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MHTA R | KFEXILHET 2 e X% () e

R | EHEARARET 2595—2 | £ 402 R17.2.28
FEIET T AT 1201 &g 1,123| R17.2.28
FEET T i BT 1206 E=3C1 917| R17.2.28
FEIET | REIIET 3814 E3C1] 1,680 R17.2.28
FEET | REITHT 3208 E=3C7 2,049| R17.2.28
FEIET | REIIET 3517—1 &g 2,177| R17.2.28
FEET | REITHT 3885 E=3C1 2,373| R17.2.28
FEET | REIIET 732-1 E3C1 3812| R17.2.28
FEET | REITHT 2522 =31 2,792 R17.2.28
FEET | REIIET 265—1 E3C1 1,148| R17.2.28
FEET | REIIET 298—1 E3C1 1,183| R17.2.28
FEET | REIIET 823 E3C1 1,037| R17.2.28
FEET | REIIET 266—1 E3C1 2,975| R17.2.28
FEET | REIIET HAEE | 42031 E3C1 1,429 R17.2.28
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METH A | KFEXILE T HhE X £

REET | REIHE RiE@E | 4203—2 | £8H 800| R17.2.28
REET | REIE 2694—1 ] 913| R17.2.28
REET | REIH 2712—1 ] 1,611 R17.2.28
REET | REIH 2712—2 | £ 1,251 R17.2.28
FEET | REIH 755—1 ] 1,296 R17.2.28
REET | REIE 762—1 i 980| R17.2.28
REET | REIH 822—2 i 825| R17.2.28
REET | REIH 822—1 i 748| R17.2.28
FEIET | REIE 3790—1 ] 240| R17.2.28
FEIET | REIE 3790—2 | £ 1,043 R17.2.28
FEIET | REIE 2108—1 ] 883| R17.2.28
FEIET | REIE 3768—2 | %£H 195 R17.2.28
REET | AESFHE 834 ] 2,996/ R17.2.28
FEET | REIE 3768—1 £ig 1,855 R17.2.28
FEET T b BT 899—1 ] 1,166 R17.2.28
FREET T fyh BT 348—-3 £l 1,113| R17.2.28
FREET T fyh BT 890—1 £l 2,410 R17.2.28
FREET | REIIET 810 £l 2,026/ R17.2.28
FREET | KEIIET 2873—1 £l 1,763| R17.2.28
FREET | REIIET 2884—1 £l 390 R17.2.28
FREET | KEIIET 2960 £l 1,439 R17.2.28
FREET | REIIET 874—1 £l 1,190/ R17.2.28
FREET | KEIIET 1686—3 | =5 991 R17.2.28
FREET | KEIIET 821 £ 2,613 R17.2.28
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METH 4 | KFXILE = HEE HX 4

FEIET | REIIHT 3224 £ig 1,587| R17.2.28
FEIET | REIIHT 3245—-D | =i 1,598 R17.2.28
REGT | BESFHE 387—4 £ig 1,116| R17.2.28
FBET | BE4H 387—5 £ 686| R17.2.28
FEIET | REIIHT 3801—1 £ig 313| R17.2.28
FEIET | REIIHT 3801—2 | £ 576| R17.2.28
FEIET | REIIHT 2701—1 £ig 2,626/ R17.2.28
FEIET | REIIET 2261 £ig 3,672| R17.2.28
FEIET | REIIET 2257 E=3C 2,013| R17.2.28
FEIGT | REIIHT 2182—1 &g 680| R17.2.28
FEIET | REIIET 2182—2 | £ 734| R17.2.28
FEIGT | REIIHT 100 &g 2,475| R17.2.28
FEIET | REIIET 101 &g 2,341 R17.2.28
FEIGT | REIIHT 2532 E=3C1 2,484| R17.2.28
FEIGT | REIIHT 2535 E=3C 1,773| R17.2.28
FEET | REIHE 2212 E=3C 2,948 R17.2.28
FEET | REIIHE 2869—1 E=3C 1,765/ R17.2.28
FEET | REIHE 2869—2 | £ 407| R17.2.28
FEET | REIIHE 2918—1 E=3C 1,110| R17.2.28
FEET | REIHE 2919—1 E=3C 410 R17.2.28
FEET | REIIHE 2930—1 E=3C 1,225 R17.2.28
FEET | REIHE 780 E=3C 3,486 R17.2.28
RS | REIH 2215—1 £ig 1,169 R17.2.28
R T T ik T 457 £ig 1,701 R17.2.28
R T T ik T 1179—2 | &M 1,185 R17.2.28
R T =FNET 1509—1 30 1,910 R17.2.28
R T L HET 219—1 30 1,613] R17.2.28
R T L HET 220 30 2,469 R17.2.28
R T L HET 219—2 30 2,129/ R17.2.28
R H =T 946 30 2,079| R17.2.28




HETA A | KFEXIZE = Hh & H#h[X 4 AR =

FEET | HRSHET 882 E3C1 1,667 R17.2.28
FEET | HRSHET 881 E=3C1 2,333| R17.2.28
FEET =T 952—1 &g 688 R17.2.28
FEET =T 92—1 &g 2,839 R17.2.28
FEET | FERKSFET | FEHE 6—1 &g 694 R17.2.28
FEET | FERKSFET | FEHE 12—1 &g 1,652| R17.2.28
FEIET | KL= 1220—1 E=3C1 2,531| R17.2.28
FEIET | KL= 1305—1 E=3C7 1,585 R17.2.28
FEET | L2 =E 163—1 3] 1,591 R17.2.28
FEET | L2 =H 177—1 3] 2,334| R17.2.28
FEET | L2 =E 194—7 3] 1,550/ R17.2.28




HETA A | KFEXIZE = Hh & H#h[X 4 AR =

FEIET | KL= 1160—1 E3C1 1,202 R17.2.28
FEET &Y 401—2 E=3C1 1,017| R17.2.28
FEIET | REHH FREA 117—1 &g 978 R17.2.28
FIET | RTHA WH | 3289—1 &g 123| R17.2.28
FEIET | JTHA ¥H | 3336—A | 24 297500552380 R17.2.28
FEIET | RKETHA ¥ H 3290 &g 978 R17.2.28
FRIET | RESH AT E 261 &g 1,852| R17.2.28
FeiET | L FRHET 1266—1 E=3C7 1,263 R17.2.28
FegT | b FRHET 1266—2 | &1 1,263| R17.2.28
FegT | L FRHET 1274 3] 1,138 R17.2.28
FEET TERT AR 1091 3] 991 R17.2.28
FEET TERT AR 1090 3] 700/ R17.2.28
FEET TERT AR 987—1 3] 792| R17.2.28
FEET T EHT ;e 91—1 3] 1,831 R17.2.28
FEET TERT AR 989—1 3] 108| R17.2.28
FRIET T ERT LN 982—2 31 736| R17.2.28
FRIET T ERT LN 9901 31 765 R17.2.28
FEET | H/MER 2253 31 3,434 R17.2.28
FEET | B9 769 31 2,117| R17.2.28
FEET | RLEH%A T 210 31 4,007| R13.2.28
FEET | RLEHB PZ( 877 31 1,412| R13.2.28
FRIET | JETHA B 3450 31 6,712| R13.2.28
FEET | RERT YEm 372—A E3C1 174905%1500{ R13.2.28
FEET | RERT YEm 381 =31 1,503| R13.2.28
R BRS EXAR | 3271 =31 1,362| R12.2.28
FEIET BERR EAT 104—1 =31 472| R12.2.28
FEIET BERR =301 34 E3C1 998| R12.2.28
FEIET BERR =301 62—1 =31 957| R12.2.28
FEET | FRIFE S 1882—1 =31 876| R17.2.28
FEET | FRIEFET I 1883—1 E3C1 505| R17.2.28
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HETA A | KFEXIZE = Hh & H#h[X 4 AR =

FET | B RIFAT )1 1884—1 E3C1 204| R17.2.28
FET | B RIFAT fF 1554 &g 1,123 R17.2.28
FET | B RIFAT MFE | 1561—1 &g 526 R17.2.28
FET | B RIFAT =K | 1303—1 &g 905 R17.2.28
FET | B RIFAT # 1447 —1 &g 714 R17.2.28
FET | B RIFAT # 1499 &g 720| R17.2.28
FEET LERT | FHEFRR 575 &g 2816 R17.2.28
FEET LERT | #FHEERR| 575-2 &g 36| R17.2.28
FEET LERT | HEERS 576 3] 618| R17.2.28




